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The Risk Analysis of Economic Appraisal

for Construction Projects :

Chen Jin

ABSTRACT
The traditional ways of feasiablity of construction projects of China ignored
ti e economic appraisal, and not made uncertainly analysis of economic apprais--
al,so resulted in the feasiablity demonstration of project to a great extent,
This paper analyse the certainly,riskily and uncertainly,It state the difie-
rence and the functional relations about them, It put forward the major causes
of riskily and uncertainly for construction projects,and give out the mothed of

risk analysis on the base of mathematic demonstration,
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